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35-A.student : Which level of dictionary do you suggest?
B. Teacher: A(n)---------- one is better for you.
a) monolingual b) pocket
c) infermediate d) compiled
36- I didn't read the ---------- of the book and jumped into the main part.
a) conjunction b) combination
¢) introduction d) action
37- A . Are they going to develop the new product in their factory next month?
B . No, actudlly it ---------- since last week.
a) was developing b) is being developed
c) were developed d) has been developed
38- Nobody knows the reason for the serious damage of that home in the earthquake,....... ?
a) does he b) do they c) don't they d) doesn't he
39- Who taught you English? --------------- English by Mr. Razavi.
a) I was taught b) You were taught c¢) I taught you d) You taught him

40- You should help elderly people, ----------
a) or you have to expect their hopelessness b) but you should donate what they need
¢) so you are not able to take care of them d) and you can't make them happy
> Read the passage and answer the questions:
Narges Kalbasi was born in Isfahan. Her parents
moved to UK when she was 4 years old. Losing both
parents due to deadly diseases, Narges decided to
dedicate her life to_orphans, who had suffered the
same problem as hers. So she opened a children's
home in India through foreign helps.
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In 2011, she established Prishan Foundation in Rayagada for girls. It was the
reason to found another home for blind children in Mukudapur. Both of them
were done through generosity of foreign donors. Now she is in Kermanshah and
helps those who were involved in the earthquake

41- Based on the text, we can understand that --------------- )

a) she first established a foundation for blind children

b) she established a children's home with her own money

c) foreign donors helped her to establish foundations

d) orphans helped her to establish children's home
42- The word ‘orphans’in the text means -----------

a) educated children b) children with no parents

c) sick children d) children with old parents
43- Which option is not correctly used?
Mary didn't feel well and suddenly burst on the tears when she found out that her

a b
close friend who was hard of hearing had gone abroad.
c d

44-"Respect and cares for elders start with our parents as they are our first teachers.”
The word 'they ' refers to ------------ .

a) elders b) teachers c) cares d) parents
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